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P 01 0.025 | 0.05
Za 2.33 1.96 | 1.645
t,(11) 3110 259 220
1, (14) 2.98 2.51 2.14
7,(25) 279 238 2.06
1, (27) 271 237 205

22 663 | 502 | 384

222 ] 921 | 738 | 599

223 1134 | 935 | 781

Q) 1328 | 1114 | 9.49

F,312) | 595 | 447 | 3.49

F,(412) | 541 4,12 3.26
Note: & = P(z > z,)

1. On average, one email comes in every 5 minutes for a customer service account. It is known that the
number of emails follows the Poisson distribution. What is the probability that no more than 2 emails in 10

minutes? (15 43)

2. A consumer group wants to estimate the proportion of university students that have part-time jobs. Within
the error of 3% with 90% confidence, how large the sample size is required? (15 43 )

- |3. A particular brand of cookies comes in three different favors. Let 4; = {vanilla}, A2= {chocolate}, As=
{berry}. Let prequal the probability that the favor of a piece of cookie selected at random belongs to A4, 7
=1, 2, 3. Given the significance level 0.05, test the null hypothesis
Hy:p =04, p,=04, p,=02
using a random sample of 77 = 480 pieces of cookies whose favors yield the respective frequencies 212,
198, and 70. At the 0.05 level of significance, is there evidence to reject the null hypothesis? (20 43)

4. Independent random samples of the heights of adult males and females vielded the following results:
Males: 7= 15, x =175 cm, sy =6cm;
Females: m=12, ¥ =160 cm, sy =5cm.

At the 0.05 level of significance, is there evidence to reject the null hypothesis' Hy:py2p, 7 Q04

5. An advertising agency plans to test the effect of social media advertising on product perception. An
experiment is designed to compare four different social media advertisements, A, B, C, D, each with
different advertising approaches. The agency asks for 5 students to watch through all four advertisements
and then rate each of them with ranges from 1 to 10. The scores for the 5 students are as follows. Give the
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a. Is there cvidence of a difference among the internet advertisements? (1541
b. Does the blocking have a significant effect in reducing the random crror? (15493
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